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Candle Bookmark 

 

Material : 

Few grams of fine wool, needles 2.5mm. 

The size of the sample matters little, since you obtain the result which you wish according to 

the chosen thread. 

Possibly: pearls, row compter. 

Abbreviations : 

K : knit 

P : purl 

K2tog: knit 2 stitches together 

SKP: Slip 1 stitch, knit next stitch and pass slip stitch over knit stitch 

Yo : Yarn over 

SK2P : Slip 1 stitch, knit 2 next stitches together and pass slip stitch over 2 stitches together. 

X : Number of stitches which varies according to the current row. 



 

Les aiguilles de Camille.com 
 2 

Work : 

Cast on 19 stitches,  

Rows 1 to 5 : knit. 

Rows 6 and all the wrong side rows :k2,p15, k2. 

Rows 7, 9, 11,13, and 15: k7md, K2tog, Yo, k1, Yo, SKP, k7. 

Row 17: k6, K2tog, Yo, k3, Yo, SKP, k6. 

Row 19: k5, K2tog , Yo, k5, Yo, SKP, k5. 

Row 21: k4, K2tog, Yo, k1, K2tog, Yo, k1, Yo , SKP, k1, Yo, SKP, k4. 

Row 23: k3, K2tog, Yo, k1, K2tog, Yo, k3, Yo, SKP, k1, Yo, SKP, k3. 

Rows 25 and 27: k2, K2tog, Yo, k1, K2tog, Yo, k5, Yo, SKP, k1, Yo , SKP, k2. 

Row 29 : k3, Yo , SKP, k1, Yo , SKP, k3, K2tog, Yo, k1, K2tog, Yo, k3. 

Row 31: J4, Yo, SKP, k1, Yo, SKP, k1, K2tog, Yo, k1, K2tog, Yo, k4. 

Row 33:k5, Yo, SKP, k5, K2tog, Yo, k5. 

Row 35: k6, Yo, SKP, k3, K2tog, Yo, k6. 

Row 37: k7, Yo, SKP, k1, K2tog, Yo , k7. 

Row 39: k8, Yo, SK2P, Yo, k8. 

Rows 41 and 43: knit. 

For the wrong side rows : k2, pX, k2. 

Row 45: k2, SKP, Yo, SKP, k7, K2tog, Yo , K2tog ,k2. (17 st.) 

Row 47: k2, SKP, Yo, SKP, k5, K2tog, Yo , K2tog ,k2. (15 st.) 

Row 49: k2, SKP, Yo, SKP, k3, K2tog, Yo , K2tog ,k2. (13 st.) 

Row 51: k2, SKP, Yo, SKP, k1, K2tog, Yo , K2tog ,k2. (11 st.) 

Row 53:k2, SKP, Yo, SK2P, Yo, K2tog, k2. (9 st.) 

Row 55: k2, SKP, k1, K2tog, k2. (7 st.) 

Row 57: k2, SK2P, k2. (5 st.) 

Row 59: k1, SK2P, k1. 

Continue with an icord: slip the three stitches which are on the right needle to the left 

one.(without turning the work, without crossing stitches), and to knit them again. 

Proceed so 12 times, to make an SK2P, Bind off the stitch, to put possibly pearls, knot  and to 

bring in the thread. 

Bring in the threads, block, cut them to short, read!! 


